number + 10 etc (4) number + 10 etc (4) n -+ 10 (4) number + 10 etc (4) number + 10 etc (4)
Write down the value of Write down the value of Answers Write down the value of Write down the value of
(a) 40-+10 (a) 40-+10 (a) 4 (a) 4010 (a) 40-+10

930 930 930 930
b) —— b) == b 9 | (b)) = b) ==
(b) 10 (b) 10 (b) (b) 10 (b) 10
(¢) 70010 (c) 70010 (c) 70 (¢) 700-+10 (¢) 70010
110 10 W 1| 10 10
(d) 10 (d) 10 (d) 10 (d) 10
(e) 540 +10 (e) 540 +10 (e) 54 (e) 540 +10 (e) 540+ 10
(f) 6000 () 6000 (f) 600 (f) 6000 (f) 6000
10 10 10 10
(g) 8430 =10 (g) 8430 =10 (g) 843 (g) 843010 (g) 8430 =10
800 800 800 800
) ) (h) 80 | m) == h) o=
(h) 10 (h) 10 (h) 10 (h) 10
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